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Bootstrap Filter
Gordon, Salmond and Smith (1993)

Monte Carlo Filter/Smoother
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m <- 100 A

4 LA CCRRRFERLAN AL 11
sig <- 1.0 § - i T T
par(mar=c(2,2,1,1)+0.1) 3 r 1 0 1 2

par(mfrow=c(5,1))

alpha0 <- rep(1/m,length=m)
#

# Initial distribution

o010 0014
[ l

0.006
1

xf <- rnorm(m,mean=0,sd=1) | W“ | .
0 1

oo4
1

# Prediction step

v <- rnorm(m,mean=0,sd=tau)

Xp <-xf+v
plot(v,alpha0,type="h"xlim=c(-3,4))

o010
1

0.006
l

T
1

plot(xf,alpha0,type="h"xlim=c(-3,4)) 5 5 4
plot(xp,alpha0,type="h" xlim=c(-3,4)) ;

(=1

# Bayes factor (weights of particles)

y <-0.3

alpha <- dnorm(y-xp,mean=0,sd=sig,log=FALSE)
alpha <- alpha/sum(alpha)

000z 0008 0014
T T T T

=_ =

# predictive, filter distributions
plot(xp,alpha,type="h"xlim=c(-3,4))

2 g
T T
1

T H |||HH
T
2 g

oo4
1

# re-sampling
xfl <- sample(xp,prob=alpha,replace=T)
plot(xfl,alpha0,type="h" xlim=c(-3,4))

oomao
1

0.006
1

1 0
0 1

alpha2 <- rep(0,length=m) & 2 4 2
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D" B#E#B7 4 LEH%

m J(Dy,Dy) J(D,, Df*)
N Bit7 XL | EBIHEERN
10 Sort 0.0326 0.00379 0.00176 0.1021
No-sort 0.0321 0.00859 0.00513 0.1021
100 Sort 0.00381 0.636x10-3 0.311x10+4 0.860x10-2
No-sort 0.00405 0.939x10-3 0.612x10-3 0.860x10-2
1,000 Sort 0.398x10-3 0.838x10-6 0.407x10-° 0.102x10-2
No-sort 0.379x10-3 0.982x10-* 0.611x10-* 0.102x10-2
10,000 Sort 0.387x104 0.101x10°7 0.498x10-8 0.248x10-3
No-sort 0.406x10-4 0.936x10-° 0.636x10-° 0.348x10-3
. J(D;, D,) DENEEETES
3(D,.D1) = [ (D, (x) - D; (x))?dx

.'i(%ia,sin (x, p) —%i |(x, £,1)) o
- i=1

m
C= Z alV
=
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# Particle Filter

A Particle Filter

m <- 1000

# Gauss model
if (model == 1){
tau2 <- 0.018
sig2 <- 1.045
tau <- sqrt(tau?) ©
sig <- sqrt(sig2)
}

# Initial distribution
xf <- rnorm(m,mean=0,sd=2)

n <- length(y) - l |

# trend <- rep(0,length=n) ‘ ' l‘
trend <- matrix(0,nrow=n,ncol=3) \ l‘l mm 1“.'
xs <- matrix( ncol=m, nrow=lag+1) °o ‘ ' I "Nl [W“!M!’\w
for (ii in 1:n) { N ””"ﬂ‘ ‘.J"|‘T ”'M
# Prediction step N ‘U' \I' " m' | ‘ |

if (model == 1) {v <- rnorm(m,mean=0,sd=tau) } Ju I “ m

if (model ==2) {v <- rcauchy(m,location=0,scale=tau) } '

xp <- xf +v N

# Bayes factor (weights of particles)

alpha <- dnorm(y[ii]-xp,mean=0,sd=sig,log=FALSE) 0 -
alpha <- alpha/sum(alpha) T | | | |

400

o
—
o
=
N
(=
o
W
o
o

# re-sampling
xf <- sample(xp,prob=alpha,replace=T)

trendlii,1] <- quantile(xf,probs=0.1)
trendlii,2] <- quantile(xf,probs=0.5)
trendlii,3] <- quantile(xf,probs=0.9)
}

plot(y,type="1",ylim=c(-3,3))

par(new=T)

plot(trend[,1],type="1",col="blue",lwd=1,ylim=c(-3,3))

par(new=T)

plot(trend[,2],type="1",col="red",lwd=2,ylim=c(-3,3))

par(new=T)

plot(trend[,3],type="1",col="blue",lwd=1,ylim=c(-3,3)) 21
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Particle Smoother

# TEST data

y <- as.ts(read.csv("Chap83B_new?2.csv"))
par(mar=c(2,2,1,1)+0.1)
plot(y,ylim=c(-4,4))

# Particle smoother
#

model <- 2

m <- 10000

lag <- 20

# Gauss model
if (model == 1){
tau2 <- 0.018
sig2 <- 1.045
tau <- sqrt(tau2)
sig <- sqrt(sig2)
}

# Cauchy model

if (model == "2"){
tau22 <- 0.0000355
sig22 <- 1.006
scal2 <- sqrt(tau22)
sig <- sqrt(sig22)

}

# Initial distribution

xf <- rnorm(m,mean=0,sd=1)

n <- length(y)

trend <- matrix( nrow=n, ncol=7)
xs <- matrix( nrow=m, ncol=lag+1)
#strend <- rep(0,length=n)

strend <- matrix( nrow=n, ncol=7)

for (ii in 1:n) {

#

# Prediction step

if (model ==1) {v <- rnorm(m,mean=0,sd=tau)}

if (model == 2) {v <- rcauchy(m,location=0,scale=scal2)}
Xp <-xf+v

# Bayes factor (weights of particles)
alpha <- dnorm(y[ii]-xp,mean=0,sd=sig,log=FALSE)
alpha <- alpha/sum(alpha)

# re-sampling
# xf <- sample(xp,prob=alpha,replace=T)
ind <-1:m
jnd <- sample(ind,prob=alpha,replace=T)
for (i in 1:m){
xfli]l <- xp[jnd[i]]
for (j in 1:lag) {
xs[i,lag+2-j] <- xs[jnd[i],lag+1-j]
}
xs[i,1] <- xf[i]

# trendl[ii,4] <- mean(xs[,lag+1])

trendlii,3] <- quantile(xs[,lag+1], prob=0.1, na.rm=TRUE)
trendl[ii,4] <- quantile(xs[,lag+1], prob=0.5, na.rm=TRUE)
trendlii,5] <- quantile(xs[,lag+1], prob=0.9, na.rm=TRUE)
}

for (ji in lag+1:n) {
strendlii-lag,4] <- trend[ii,4]
strendlii-lag,3] <- trendl[ii,3]
strend[ii-lag,5] <- trendl[ii,5]

}

for (ji in 1:lag) {

#strend[n+1-ii,4] <- mean(xs[,ii])

strend[n+1-ii,3] <- quantile(xs[,ii], prob=0.1, na.rm=TRUE)
strend[n+1-ii,4] <- quantile(xs[,ii], prob=0.5, na.rm=TRUE)
strend[n+1-ii,5] <- quantile(xs[,ii], prob=0.9, na.rm=TRUE)
}

#plot(y,type="1",ylim=c(-3,3))

#par(new=T)
plot(strend[,3],type="1",col="blue",lwd=1,ylim=c(-3,3))
par(new=T)
plot(strend[,4],type="1",col="red",lwd=1,ylim=c(-3,3))
par(new=T)
plot(strend[,5],type="1",col="blue",lwd=1,ylim=c(-3,3)) 31
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| Goussianmodel Cauchy model

I N T S N T

-750.859 2.287 0.02 | -752.207 6.247 0.02

103 -148.529 1.115 0.06 | -743.244 2.055 0.06
10% -148.127 0.577 0.58 | -742.086 0.429 0.63
10° -7147.960 0.232 .84 | -742.024 0.124 6.27
106 -7147.931 0.059 59.41 | -742.029 0.038 62.73
107 -147.926 0.023 591.04 | -742.026 0.013 680.33
108 -7147.930 0.008 5906.62 | -742.026 0.003 6801.55
10° -147.928 0.002 59077.35 | -742.026 0.001 69255.03
CPU-time : #
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Gaussian Model

Cauchy Model

m Fixed-  Fixed- Two- Fixed-  Fixed- Two-filter
lag interval filter lag interval

102 3.693 41.723 6.913| 21.248 47.881 26.440

103 2.259 16.275 1.399| 6.042 23.654 4.870

104 0.717 5.547 0.333| 1.001 3.679 0.378

10° 0.185 1.448 0.118| 0.140 0.380 0.072

Evaluated by 1(D, D)
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